SR R YA

Practice Paper

IX
AT =
Social Science
|7y 90 fAmie quris 40
GG R LR
I U U U3 4 ®{dA 4 TGUS § | T GUS AR 7 |
II. S99 Y3 § ®d 60 9g[ddbedld U &, [S9dl 4 @Usl &, @, T 3R g H farord
foram a7 2 |
Il. TS & H Bol 24 U B, NFH ¥ {H=T 20 UgAl BT g DIV |
V. WS @ H @ 22 ueA &, R & 5l 18 Ul &F g @iy |
V. WS T H U FMRT BT 12 U &, N8 I B8l 10 U1 DI 8 DI |
VI. @ ¥ # AFfaF a2 UeH & | I U Sffard £
VII. 9% 9% 0.8 3% $I & |
VI 9% 999 H 4 fdded fau 10 €, 99 | 3Mus! dad U f[dded &1 939+ &R 2 |
[X. ZEUTcHS 3fp ( Hifea HfdbT) &1 Waem— 8! 2 |
General Instructions:
I.  There are four sections in this question paper. All the sections are compulsory.
II.  The question paper consists of 60 multiple choice questions divided into 4 sections A,
B, C and D.
III.  Section A comprises of 24 questions. Attempt any 20 questions.
IV.  Section B comprises of 22 questions. Attempt any 18 questions.
V. Section C has 12 questions of source based. Attempt any 10 questions.
VI.  Section D has 2 map based questions. Both questions are compulsory.
VII. Each question carries 0.8 mark.
vill.  Each question has 4 choices. You have to select any one of them.
IX.  There is no negative marking.



Q. 1.

Q.2.

Q. 4.

(TS D)

Section A
HEFGCRIRI
(A) T AT D1 3T fod S aredt R
(B) Whid &I gal

(C) = & GRT IYQAT ST aTal B

(D) ISWEIHI DS Tl
What was Tithe?
(A)  Tax to be paid directly to the state.
(B)  Currency of France.

(C) A Tax levied by the church.
(D)  None of the Above.

3GREd! Xdlea! H Wil THT fohd Tded | faurfora U

(A) TP
B)al

(©)
(D) TR

In the Eighteenth Century French society was divided into how many Estates?

(A)  One
(B) Two
(C)  Three
(D)  Four

e fHe Y ugH Pifoie-
(A) JASTER- AMNH
(B) T8 XVI- YD
(C) ST dlih- TMH
(D) AOIfeH- &

Find the INCORRECT Match.
(A) Robespierre — Ruler
(B)  Louis XVI — Ruler

(C)  John Locke — Ruler
(D) Napoleon - Ruler

30 Um e ¥ fore g i Ui 2-
(A)  SITSIE! &l
(B) I Bl
)  IEAH

(D)  Tbdlel



Q. 5.

Snake biting its tail symbolizes-

(A) Freedom
(B) Eternity
(@) Knowledge
(D) Unity
<l b1 3T T Uciiep &-
(A) §% SO
(B) CINIES! .
(C) RAYS & i AT foddt 3@
(D) EREREIEG]
The symbol for Freedom of slaves is-
(A) The broken Chain
(B) Winged woman
©) The eye within a triangle radiating light
(D) None of these
gt fe 1 ug= Sifoig

(A) HAR¥CTERE - 9Rd
(B) MR  -9Rd
(C) T HIG - R

W 773 U U o1 1 Farfl 8 s =1 b1 e HRd & |1y 781 el | Fafeaa 7 9

My friend hails from a country that does not share its boundary with India. Identify the

(D) ®MHEC - RT
Find the CORRECT Match.
(A) Mount Everest - India
(B) Dhaulagiri - India
(C) Makaalu — India
(D) Kamet — India
g fodl <=1 1 At gh-
(A) ¥HcH
(B)
©)
(D)
country.
(A) Bhutan
(B) Iran
(C) Bangladesh
(D) Nepal
82°30’ gdf GIaR FHeadrd &-
(A) b @l

(B) HRd I HMHD A7
(C)  dicicl &1 HFD HETE
(D) HB @l
82°30° East Longitude is called-
(A) Tropic of Cancer
(B) Prime Meridian of India
(C) Prime Meridian of Sri Lanka




(D) Tropic of Capricorn

Q.9. Fufafad d T frg R Isg &1 THH1 Uifh s ¥ ol Haci?
(A) U
B) feHmEd Udw
(C) XIS
(D) TR
Which of the following state of India does not share its boundary with Pakistan?
(A) Punjab
(B) Himachal Pradesh
(C) Rajasthan
(D) Gujarat
Q.10. 3RTIFR RUTR-
(A) HRdHIIH
(B) HRd & UFHH
(C) HYRAHIWHA
(D) YR & o ¥

The Arabian sea is located in the-

(A) EastofIndia

(B) West of India
(C) North of India
(D) South of India

Q. 11. TRUT & Jad I %Al &1 gl STl o-

(A)

(B) Rt
©) Rrarfa®s
(D) femfg

The northernmost range of the Himalayas is called-
(A) Himachal

(B) Nilgiris

(C)  Shivalik

(D) Himadri

Q.12. HiR®-
(A) Y SIlg HeH
(B) M wdig AgH
(©) Afeal ot 3Rast srawat
(D) arAfea & dg D Y
‘Bhangar’ is-
(A) New Alluvial plains
(B) Old alluvial plains
(C)  Last stage of rivers
(D) Land between two rivers

Q. 13. frgfafad @ ¥ farem 2002 H urfea™ & <efivat Shradh 3ifex an] fawar U

A. N 3das®
B. HIgHIG RN
C. W9 JRR®
D. 399 Y PIs 8l




Q. 14.

Q. 15.

Q. 16.

Q. 17.

Which among the following issue ‘Legal Framework order’ in 2002 in Pakistan.

A. Jiaul Haq
B. Mohammad Nasir

C. Pervez Musharraf
D. None of these

b U 1 TP H ARIP AT GRT YA W1 82

(A)  Rew

(B)

() IRt
(D) IWied I+

In which form of government rulers are elected by the people?
(A) Autocracy
(B) Democracy
(C)  Kingship
(D)  All of these
forelt GX1 ¥ Had U & 5 & Yol I A1 H WS g BT SR U ¢ | T UHR &

AT & 916 o1 g8 IRBR HEATTI-
(A) ADHdiHD
(B) R-Apdid®
(C) ARBGH
D) FTHIDIETE

In a country only a particular party members are allowed to contest in an election. The
government formed through this type of election will be a-

(A) Democratic government

(B) Non-democratic government

(C) Both AandB

(D) None of these

T3cl 3Rd H Afgarsii &l dic Sia- &1 ISR Hd T

(A) 1948
(B) 2005
(C) 2015
(D) 2010
In which year the women in Saudi Arabia got right to vote?
(A) 1948
(B) 2005
(C) 2015
(D) 2010

frafeied o 9 forem Jaad & a8 YR Rardl & faea & fAuifas Yt Aurs?
(A) 3 hdAMH Al
B) <1 PUTHER
€) Ut g
(D) URGR GEAYHHTS HTARHTS e
Which among the following played a decisive role in the integration of the princely
states of India after Independence?
(A) Abul Kalam Azad
(B) T.T. Krishnamachari
(C)  Jaipal Singh
(D)  Sardar Vallabhbhai Jhaverbhai Patel



Q. 18.

Q. 19.

Q. 20.

Q. 21.

Q. 22.

TIIYT JHT P 3T I A2

(A) T3 gEet

(B) NIg UG

()  3gd HAH TG
(D) T TR

Who was the President of the constituent assembly?
(A) H.C. Mookherjee
(B) Rajendra Prasad
©) Abul Kalam Azad
(D) Mahatma Gandhi
g wuT = forg oy dfqur &1 sivfigd forar mam

(A) 1949
(B) 1947
©) 1946
(D) 1935
When did Constituent Assembly adopt the constitution?
(A) 1949
(B) 1947
©) 1946
(D) 1935
FafiRed # 9 3 91 IdTed BT HRD 62
COR
(B) ekl
© el
(D) IR gt
Which among the following is a factor of production?
(A) Land
(B) Labour

©) Capital
(D) All of the above. _
frofarea & O @ 9 snffe frar ureagR e & ot ot 82

(A) PN

(B) trﬁ?:l%:l

(€  JgTE PR IAM
(D) ISR gt

Which among the following economic activities are done in Palampur Village?
(A) Agriculture

(B) Transportation
(@) Small and cottage scale industry
(D) All of the above

HUA S & Fa S BT HTH IRl ¢ | IAZT T8 [ &% I ST 53T 82
(A) Il &3
(B) fgcias® ad
(©) qS &b
(D) T A Pl el



Q. 23.

Q. 24.

Q. 25.

Kamal works as potter. State he is engaged in which sector-

(A) Primary Sector
(B) Secondary sector
(@) Tertiary sector
(D) None of these

YT TP FHIEGST AR § | IY TdAHD BT 3R AT JR& (ST, IZEH U
gl STEY I8 ISR o fobey &9 7 HTH Bl 82

(A) Tifed &=

(B) ETed &
(©) A 3R B GHI
(D) $TH A DIE TS

Samidha is a working woman. She gets paid leaves and Social security (insurance,
gratuity etc). State in which sector of employment she is engaged in-

(A) Organised Sector
(B) Unorganised sector
©) Both A and B
(D) None of these
frafefed & @ S I HY v SISl &7 3faTqur 32
(A) ITI% IATDb! T YTRT

(B) N TR H HHT
(€) Yl o1 IaRar d HH

(D) ISR gt
Which of the following is the demerit of HY'V seeds-
(A) Excessive use of fertilizers
(B) Decreases the water table
(@) Decreases the fertility of soil
(D) All of these
(s 9)
Section B

Fer BYT (A) IR BRUT (R) G T | 39 HU D) U 12 e 7 fawredl & § I8t IR
R forRae-

MfHBYT (A) : HRA T Albdli-ad X 2
PRI (R) HRA H Sa1 gRT g U Ul IR fFofa o 81

(A)  BY (A) 3R BRI (R) T T8 3 3R BRI HY B Tg! RS HRT ¢ |

(B) gm(A)sﬁvW(R)aﬁﬁﬂﬁ%W$mwﬁﬂﬁWqﬁm
|

(C) HYF (A) Tl § dfdh HRUI (R) TTed 5 |

(D) YT (A) TTeld § Wb BRI (R) TEI B

In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statement and choose the correct option:

Assertion (A): India is a democratic country.

Reason (R): In India, elected representatives by people to take all the decisions.



Option

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true and but R is not the correct explanation of A.
©) A is Correct and R is Incorrect.

(D) A is Incorrect but R is Incorrect.

Q.26. = femw AT i faswer § & @ @ AfAu-
F. H TTEA- A #. 9 | TEH- B
L. TOTT A. | quThew #4799, R 9w gud B &+

SR ol T | EO e B ) R I R 2 o
THIT IS AT Iraer T2t g

I1. FEAAAT B. | amrfeani & @y It o0fd, gf siw foRr &
A 9 AIATT gl AT ST FqehaTl

I1I. I C. |9™a & IH@ &N FET AT gRT T &l

Rt dor ar TS wEEE #w

e -
(A)I-C, TI-A , 111-B,
(B) I-A, 1I-C , I11-B,
(C) I-B, II-C , TII-A,
(D) I-C, II-B , 11I-A,

Match the following and choose the correct answer from the options given below-.
Sl. No. | Column- A S1. No. | Column- B

L. Republic A. | There is no unreasonable restrictions on the
citizen in what they think, how they wish to
express their thoughts.

I1. Liberty B. | Citizen cannot be discriminated on the
ground of Caste religion and Gender.
II1. Justice C. | The head of state is an elected person not a
hereditary position.
Options-

(A)I-C, TI-A , T1I-B,
B) I-A, TI-C , TII-B,
() I-B, 1I-C , T1I-A,
(D) I-C, 1I-B , 11I-A,

Q.27. fufufad & & g 390 & IO @7 A9 AT & ATIEwr I90 oqe Hiaegm
T EATT THF TEATEAAT F FLA B2

A. WHE
. ST
. G ST AHH]

EEC

gaQ w



Q. 28.

Q. 29.

Q. 30.

Taking inspiration from which of the following country, most of the contemporary
world have chosen to begin their constitution with preamble?

A. France

B. India

C. United States of America
D. Britain

aRa UF 97 Feder q9or g, Fw oA B-
A. AN & A9 AHA F S g FAT o & ATTFHT g
B. ANMT &I fRET T o6 &7 AW &7 QI &@&a-=ar gl
C. &TET & THE ARSI GRT FAT gl ARG 2
D. TAH T FT TEI
India is a secular country, means-
A. People have supreme authority to take decision on every matter related to them.
B. Citizens have complete freedom to follow any religion.
C. The head of the state is an elected person.
D. None of these

TH AHRAIS 0 H Iq6 TAF ARIE & qle K JoF & Tod Mdl a-

C
D) TH H A A
In a democratic country the value of vote of each citizen is-
(A) Equal
(B)  Unequal
(C)  Sometime equal some time unequal
(D) None of these

IR YT (A) IR BRUN(R) fGA T B 1 37 HYA B Ughe - e T sl 9
g1 IR B feIiau-

fUBYT (A) : 7 TF serwai=® 30 2

BRUT(R) : FF & AN & I A H Fle [@AFed dgl gar gl

(A)  PYT(A) 3R BRI (R) T Tg! & 3R BRI HY ! Ta! AR HRl
gl
(B)  PY(A) 3R HRUI (R) Tl Tg! & e B HRUT &1 e ST el
HRATR
(C)  HYT(A) Tal § Afh BRI (R) TAI B
(D)  HYF(A) TTAd & Afh BRI (R) Tl g
In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statement and choose the correct option:

Assertion (A): China is called a non-democratic country.
Reason (R): People do not have choice in the election.
Option
(A) Both A and R are true and R is the correct explanation of A.



(B) Both A and R are true and but R is not the correct explanation of A.
(C) A s Correct and R is Incorrect.
(D) A is Incorrect but R 1s Incorrect.

Q.31. MFufafed & ¥ Arwda & 90 § I 97 T I g2
I. dga¥ [ o9 & g9Edr gt gl
II. ARMGHE F GFE dGldl 8l

T, favhr ey § X6 A 3

oo -
A FaA I
B FIT I 3T I

(A)

(B)

(C) FAA I ST III
(D) gy 1,11 30T 11T

)

Which of the following is valid argument in favour of democracy?
I.  Improves the quality of decision making
II.  Enhances the dignity of citizens
III.  Leads to delay in decision making

Options-
(A) Onlyl
(B) OnlyIandII
(C) Only I and III
(D) Al II and TII
Q.32.  oTar #T ASTE F I AT TEF FRF & o qqT 7 S T 9qrsh & a1
fe®e 1928 ® 9 FT "G F9ET AT?
(A) EEL AT 98&

(B) WAl @ A8w
(C) WETHT et
(D) W fiE

In 1928 which of the following Indian National Congress leader drafted Indian
constitution along with eight other congress leaders?

(A) Jawaharlal Nehru

(B) Motilal Nehru

(C) Mahatma Gandhi

(D) Bhagat Singh

Q.33.  RIHYT (A) 3R BRI (R) feA W § | 37 HU= & Ugh - a8 U fiwedl #
a1 IR FAP ferlRau-

AFHBYT (A) : SR YR 3R ORI & RIFT 9T H ¢} 9 &1 3R g
PRI (R) : HRA D A JHY 37T 6T 7 82°30” |

(A)% HYF (A) 3R BRI (R) GH TET § 3R BRI HYF D gt ARSI Bl

|

(B) aﬁﬂ?g)ﬁ?W(R)ﬁﬂﬁ%WéﬁWWﬁﬂﬁWﬁ
AR

(C)  BYT(A) &l € Afth BRI (R) T B




Q. 34.

Q. 35.

(D)  HYF(A) TTeId & Afb R (R) TS B

In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statement and choose the correct option:

Assertion (A): There is a difference of two hours between the local time of
Arunachal Pradesh and Gujarat.

Reason (R): The Prime Meridian of India is 82° 30°.
Option

(A)  Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true but R is not the correct explanation of A.
(C) A s Correct and R is Incorrect.

(D) A is Incorrect but R is Incorrect.

frafafed § 9 &F 91 Y9 YRd & J&¢ J Tt 82
(A) g cfemft Mend & R 31 _
(B) &AGd i 2P Y Ug fa¥y 1 A1ddl 981 GV 5
(©) HAPHR T 3 T &) SRIeR gl H sfedi g
(D) 3cdifed HEMR & HRd &t Hgg fRUfT 31

Which of the following statement is true in relation to India?

(A) It is located in the Southern Hemisphere.
(B) In terms of area it is the seventh largest country of the world.
(C) Tropic of Capricorn divides it into almost two equal halves.

India has central location in the Atlantic Ocean.

?ﬁﬁﬁwﬁ%wmmwaﬁm%%%mﬁmﬁmm
?

g Ueh Hyl Bl 3MTepfd g RA AU dAT | 3D &l GBI YT 6- A
AT A B %Fcri?rh—crﬁa‘f@w I Y 3R TP BT ISR
|

(A) I M

(B) UgIUd U8R
(©) g AeH

(D) ferTea gad Sae

Identify the physiographic division of India on the basis of features given below-

It is table land shaped. It is composed of old It consists of two major
crystalline igneous and | division- the Central Highland
metamorphic rocks. and the Deccan Plateau.

(A) The Northern Plains

(B) The Peninsular Plateau
(C) The Coastal plains

(D) The Himalayan Mountain



Q. 36.

Q. 37.

Q. 38.

Q. 39.

RPT FT3?

(A) UgTS! IR fUd 99 & AeH
(B) Wb AR Il

(C) Tl de &1 T U

(D) WX U &I id

What is ‘Barchans’?

(A) Meadows in the hilly areas
(B) Crescent-shaped dunes

(C) A port on the Western coast
(D) Salt water lake

fafafad & 9 &1 91 g1 yare I 941 89
(A) 3fSHM
(B)
(C) W&rgiy

(D) STH I B 51

Which of the following island of India is formed by the corals?

(A) Andaman
(B) Nicobar

(C) Lakshadweep
(D) None of these

e % <o # Ry ufy adiy ugt sean 2
(A) IR IWMPR
(B) PIHUl
(C) HAS
(D) HTATER

The western coastal strip located in the south of Goa is called-
(A) Northern circar

(B) Konkan

(C) Kannad

(D) Malabar

F2r BUT (A) IR BRUT (R) fGB T | 39 HU D) U 12 e 7 fawredl & § I8t IR
R foriay

AFUBYT (A) : YH IS FT TH TIE SRS g |
BRI (R) : YfF gefH 3R AP 81

(A) HYF (A) 3R BRUT (R) SHI eI § 3R PRI HYF &1 el IR BT g |

(B) gW(A)aﬁ?W(R)ﬁﬂﬁ%W$mwﬁHﬁmﬂﬁm
|

(©) HY (A) TB & Afth HRUT (R) TAd & |

(D) HYT (A) T § Afb HRUT (R) TE1 B



Q. 40.

Q. 41.

Q. 42.

In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statement and choose the correct option:

Assertion (A): Land is an important factor of production.
Reason (R): Land is rare and limited.
Option
(A) Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true and but R is not the correct explanation of A.

(C) A is Correct and R is Incorrect.
(D) A is Incorrect but R is Incorrect.

fAgferfad & 9 7ed HYF &I g BHifole-
(A) &= ITd, HT Yol 7 IeeRu g
(B) HaH, BRI Yoit T IaTeUI 5|
(C) SIWIR, T Yot ] IR & |
(D) -dhe Gal BN Yol BT 3G 5 |

Identify the Incorrect statement from the following-
(A) Raw material is an example of working capital.
(B)  Building is an example of working capital.
(C)  Tools are an example of fixed capital.
(D) Cash is an example of working capital.
F2r BUT (A) IR BRUT (R) G T | 39 HU D) U 12 e 7 fawredl & § I8t IR
ECERUK|TELY .
STUBYT (A) : AT H AgH SRISRY 31 Urg Sl g1
PRI (R) : WIEIMR A HY TR AT 8 3
(A) BYT (A) 3R HRUT (R) G Ta! § 3R BRI HY B! Tg! ARSI FRAT 8 |
(B) ?Fr (A) 3R BRI (R) T TB § AP HYT HRUT B Tg! TRSAT Ta| Bl
I
(C) HYF (A) TB! § Aft HRUM(R) TTed 5|
(D) HYF (A) TTd & Qb BRI (R) TET B

In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statement and choose the correct option:

Assertion (A): Seasonal unemployment is found in abundance in the villages.
Reason (R): Most of the people are dependent on agriculture.
Option

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is not the correct explanation of A.
(C) A s Correct and R is Incorrect.

(D) A is Incorrect but R 1s Incorrect.

G & IS H gl U §s-
(A) BRABIA DGR
(B) Hicit Bifd & gRI
(C) AT P & gRI
(D) Ulelt Hifd & grRT




Q. 43.

Q. 44.

Increase in the production of food grain was possible due to-
(A)  Green Revolution

(B)  Blue Revolution

(C)  White Revolution

(D)  Yellow Revolution

I FYF (A) 3R BRUN(R) f&A T B | 37 HY H) Ugaz -ia fed e fawedi & §
el IR FAP ferRau-

fUBYT (A) : BRI H Fgd BRI JaU SITGT IIRIRT T&ee gHTfad o1 |
PHRUT (R) : 51T H Had digR TE Dl gl B AT gidT T

(A)  HYT (A) 3R BRUN (R) T T8 § 3R HRUI HY B Tg! IR HRAT 5 |

(B) EEW%A)aﬁTW(R)ﬁW%WEEWWﬁWWHﬁ
RAT g

(C) HYT(A) &I § Al HRUT (R) T G|

(D) HYF(A) TTAd g Afb- HRUT (R) el g

In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statement and choose the correct option:

Assertion (A): The third estate was most affected by the rising taxes in France.
Reason (R): Taxes had to be paid by only Third Estates in France.
Option

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true and but R is not the correct explanation of A.
(C) A 1s Correct and R is Incorrect

(D) A is incorrect but R is correct.

IR YT (A) IR BRUN(R) fGA T B 1 37 HYAI B Ughe - e T fAweai 9
a1 IR AP ferRau-

AFUBYT (A) : BT 1793 F 1794 TH & I DI D BT T HET o1l ¢ |
PRI (R) : AR 7 &5 3R a7 3t T ife 3rors |

(A)% HYF (A) 3R BRI (R) I a1 & 3R HRU HY B Tg! SRS Bl

|

(B) EEW%A)aﬁTW(R)ﬁW%WEEWWﬁWWHﬁ
RAT B

(C)  HYT(A) &I € At HRUI (R) T G|

(D)  HYT(A) T § Afbd RN (R) TBI g

In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statement and choose the correct option-

Assertion (A): The period from 1793 to 1794 is referred to as the Reign of Terror.
Reason (R): Robespierre followed a policy of severe control and punishment.

Option



Q. 45.

Q. 46.

(A) Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true and but R is not the correct explanation of A.
(©) A 1s Correct and R is Incorrect.
(D) A is Incorrect but R is Incorrect.
Higdl Td ARIRS SHYBR GomeE” fosda qaR faar o
(A) AR
(B) 3T S T
(©) BT AR
(D) R uditid
Who prepared ‘Declaration of the Rights of Women and Citizen’?
(A) Robespierre
(B) Olympe de Gouges
©) Karl Marx
(D) Marie Antoinette
gl e FIfoTe 3R fased 7 ¥ I8t IR IMAT-
.9 |W™H-A %. 9 | WH-B
L NS A. | A D ToR § 99 RIS €
i SISPARSEEELE B. | ST & AHAIY T4
IIL. S aTel Tt C. | a9l gRT a4 g o &1 Ug!
S aredt STt
Iv. fafe e D. | Q78! ¥ &l Ydilh
faeey-

(A) I-A, II-B , TTI-C, IV-D
B) I-A, II-C , TII-B, IV-D
(C) I-D, II-B , TTI-C, TV-A
(D) I-D, 1I-C , T1I-B, IV-A

Match the following and choose the correct answer from the options given below-.

SI. No. | Column- A SI. No. | Column- B
L. Sceptre A. | All are equal before law
I1. Red Phrygian cap B. | Personification of Law
II1. The winged women C. | Cap worn by a slave upon
becoming free
IV. The Law Tablet D. | Symbol of Royal Power
Options-

(A) I-A, II-B , TTI-C, TV-D
B) I-A, 1I-C , T1I-B, IV-D
(C) I-D, II-B , TTI-C, TV-A
(D) I-D, II-C , TII-B, TV-A




@S )

Section C

Fid-1 (Source-1)

eI 3R FHEl H g1 hfaeal & g4 aral fafaior & fawita uraeaqR # fafafor & sgd wRa Iareq
fafer 1 T BT § IR IV B AT WR & fvar st 1 fafmfo o urfvaries sm % Termar @
fYHR oRY a1 Wat | foran S g1 4fiept ) Syl HR 8 g R forn Sirdr 8 1 oraH QR # w4re]
N YR 81 B | UTHYR & SAMIRT H GHMER 8 Ol eI & dUleh SNIR] ¥ &g UHR B Gy
Tied € iR 3% T § R a9 g1 i § B SRa ©RI § 919q, Ig, I, a4, [§f&ee,
Aafat, 1a-URd gt 9@ & $8 Hus ot fidd 81 $© ukar! 3, e R 9 T & Adc g,
3T TR & T YT A B g W ot g1 d WH Pt Aot 397d ¢ | IR 3R ISl & &I TS
IR H3 YHR & dTe- Iad ¢ | RaRIare, diitard, iy, Saex, T SI3ar dUT IRURFT Saie! 3R gas!
MR T Ot § ANT o URae Jareit B fd 21 3 A ol aRgell Bl Ud oTE ¥ gust ofTe
U1 § MR 9% ded A 3 Uy I § | 7T s au! § uRae ¥ IS arl &t I 9gd 9¢ TS o

Unlike the manufacturing that takes place in the big factories in the towns and cities, manufacturing in
Palampur involves very simple production methods and are done on a small scale. They are carried out
mostly at home or in the fields with the help of family labour. Rarely are labours hired. People involved in
trade are not many in Palampur. The traders of Palampur are shopkeepers who buy various goods from
wholesale markets in the cities and sell them in the village. Small general stores in the village selling a
wide range of items like rice, wheat, sugar, tea, oil, biscuit, candles, notebooks, pen, pencil even some
clothes. A few families whose houses are close to the bus stand have used a part of the space to open small
shops. They sell eatables. There are varieties of vehicles on the road connecting Palampur to Raiganj.
Rikshawala, Tongawala, Jeep, tractor, truck drivers and people driving the traditional bullock cart and
Boogie are people in the transport services. They ferry people and goods from one place to another and in
return get paid for it. The number of people involved in transport has grown over the last several years.

Q.47.  yraAR ¥ fafwfor grar g
(A) BIC TR W (B) & TR W

(¢) fafFafor gt grar g (D) STH Y DIg 8

Manufacturing in Palampur occurs at-

(A) Small scale (B) Large scale
(C) No manufacturing occurs (D) None of these

Q.48. fgfiyd o ¥ & uraH R ¥ TR-H feharsii &1 Iaex0l 151 62

(A) GPHMGRI
(B) GIRdg- dar
(C) UUTA
(D) I ST

Which of the following is not an example of non agricultural activities?



(A) Shopkeeping

(B) Transportation service
(C) Animal husbandry
(D) Growing crop

Q.49. UTHYR & ey T FYfeiRad # ¥ &I I HYU- 81 62

1) fafFaior &1l 98 TR W BT B

(1) fafator & oifkaTes o &t eraar 3 fear smarg |
a) fafaior &1 7 98 T R 4fie] o a1 sar g |
fdhey-

(A) Had

(B) Had II

(C) Had 1 3R 111

D) I 1, 11 3R 111

Which of the following is true in context of Palampur?

(I) Maufacturing work is done on large scale

(IT) Manufacturing is done with the help of family labour.

(IIT) Labours are hired on a large scale in manufacturing work.
Options-

(A) Only I

(B) Only II

(C) Only I and III

(D) All I, IT and III

Q.50. URag A Is AN &1 T B g2

(A) AT 1 Teh I J IR R dh o S
(B) a3 B Teh R I GIR VY T o ST
(C) A 3R B aHI

(D) 398 I P13 78!

What is the work of people involved in transportation?

(A) Ferry people from one place to another
(B) Ferry goods from one place to another
(C) Both A and B

(D) None of these

Q.51. UaAR A Frufefed o § & 4t enffes farar o1 Iemrur g2

Which of the following is an example of economic activities in Palampur?

(A) Shopkeeping



(B) Manufacturing
(C) Transportation service
(D) All of the above

Q. 52. %IW—I';B 3R IS & ot FEfafad & 9 &1 91 uikag= &1 Jre SUanT § 781 it S

(A) Ra=m

(B) @RI,

©) aﬂ‘”é !
WEEIEEHE

Which of the following means of transportation is not used between Palampur and
Raiganj-

(A) Rickshaw

(B) Tonga

(C) Bullock cart

(D) Aeroplane

Hid-2 (Source-2)

189 el & T Y IS g $T 3ad gl o’ 7 vl gl a1, form had THgaR™
MR 3R S IUT IH Tl &b IdTe & 9d TR Jufy ol ot i1 St 3R Y pus!
&1 1 a1 Faifd foar SITar o1 31 99 & TG arll 94 WRIG od 31 TR e J 37 WIeRi
ud fAufareft & srerar Urafe Ad1 § doid ol URieR ant Ht wfia 91 g o ue fera @
3R JHT AT AT for TS & ot ot T o Ty of o1 foRIWTT R el 81 anfeq| forsit
W sufad &) grmrfore sR/Ad &1 YR ITDt argar g1 g1 =1feT | Tad=dT, JH et aur
T AR} & faR W nuid THS &1 URE T RS 2 TRdd &1 2| o1 & <dig
3R FRPY ReRI & Rigia &1 deA fhar man| st a1 g Ruike i g amr |
%&q&ﬁ WBHR & 3R RYRIPT, HriufaeT iR aruIfee & i I faHTs o1 91d
|

The eighteenth century witnessed the emergence of social groups, termed the middle class, who
earned their wealth through an expanding overseas trade and from the manufacture of goods such
as woolen and silk textiles that were either exported or bought by the richer members of society.
In addition to merchants and manufacturers the third estate included professions such as lawyers
or administrative officials. All of these were educated and believed that no group in society should
be privileged by birth. Rather a person’s social position must depend on his merit. These ideas in
envisaging a society, based on freedom and equal laws and opportunity for all, were put forward
by philosophers. The doctrine of divine and absolute right of the monarch was refuted. The
division of power within the government between the legislative, the executive and the Judiciary
was proposed in ‘The Spirit of the Laws’ written by Montesquieu.

Q.53. Uy ¥l Rgam® -
(A) ITHISIS FHEAT & (B) ST 3TeTRRd faRiwfdesR &
(C) THM HaTI & (D) Wd-ddl &

Middle class was against-

(A) Social equality (B) Privilege by birth



Q. 54.

Q. 55.

Q. 56.

(C) Equal opportunity (D) Liberty
DR & 3R 1 fAUTSH &1 T foba Ugd

(A) T

(B) Wi & THTC A
(C) S Al A
(D) Hldrg A

Who proposed the idea of the division of power within the government?

(A) Nobles

(B) King of France
(C) John Locke
(D) Montesquieu

fofafad 7 Q &1 Aead Tt &1 4T 8T Ui

1) &R
(1) Al
(I11) IRIEHE Ja1 § & an

(V)
[EETES
(A) P [ 3R 11

(B) Had II
(C) Had 1 3R 111
(D) Had 11 3R IV

Which of the following was not a part of middle class?

(I) Merchants

(IT) Labours

(ITT) Administrative officials
(IV) Lawyers

Options-
(A)Only I and IT
(B) Only 11

(C) Only I and IIT
(D) Only IT and IV

fopalt Y afaT o) GraTfoTs 2RI &1 3NYR ITB! AdT g1 g 1T I 39 Hd bl
adq 390 O feam 8] fpam

(A) PaiAl A

(B) A ¥ & @RT =

(C) A R BEHIA

(D) 378 I PIS 78!

‘A person’s social position must depend on his merit.” Who were not in favour of this



notion?

(A) Nobles

(B) Middle class
(C) Both A and B
(D) None of these

Q.57. W\l = Hufxy sifold &t oft-

(A) TISURIY ORI (B) M o IMUR A
(C) Bl I AR I (D) SWRIad It
Middle class earned their wealth through-
(A) Overseas trade (B) Silk cloth trade
(C) Woolen cloth trade (D) All of the above
Q.58.  fruforiad & ¥ o W wye a9 o & Jdy T 9 T B-
(A) Y Ue-fora |

(B) ST AT UT fob oSl A o+ 3erRd faRiwfier g1 =nfeu|
(C) ITBT T 4T {3 Iranfores 2Riad o1 sMuR 39t avgdr g+ =t |
(D) SWIad H Y BI5 Aol

Which of the following statement is not true in context of Middle class--

(A) They were educated.

(B) They believed privileges by both should be there in the society.

(C) They believed that a person’s social position must depend on his merit.
(D) None of the above

(TS )
Section D

HRA & Jelifaes a1 AR TR & R A 3R B 3ifhd &1 &1 718 SMaRI & YR )R fau
T 39 R &) UgdH Hiorg 3R Id fdewed e fafae-

Two places A and B are marked on the political outline map of India. Identify these places on the
basis of information given below and choose the correct option-
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Q.59.  YRd P T TN e AMRE TR Jbhd A I I Dt ISy g S Ia H A
3ifard 8 | TSI &7 1 faded & § gga & ffau-

(A) IR
(B) PHIADIAl
(©) VAR
(D) X!

On the given political map of India A is marked as the capital of that state in which it is

marked. Identify it from the following options-

(A) Bhubaneswar
(B) Kolkata

(C) Jaipur

(D) Ranchi



Q. 60.

dre: 1 QY Y U, U €A1 59 @ WM W dad giedned faenfeat & fog
=

Note: the following Questions are for the Visually Impaired students only in lieu of
Question no. 59.

YR P JRTS T b1 IS T 22

(A) YaIR
(B) HIABI
(C) WAR
(D) Xt

What is the capital of the Indian state Jharkhand?

(A) Bhubaneswar
(B) Kolkata

(C) Jaipur

(D) Ranchi

YR P I Io1dp AMT IR Yobd B U Udd ! g1 39T A fApa & I
Ugar o feau-

(A)  3FTS TS
(B) K-2

(C) DI
(D) Harddl

On the same political Map of India B is marked as a mountain Peak. Identify it from the
following options-

(A)  Anai Mudi
B) K-2

©) Kunchenjunga
(D)  Nanda Devi

die: S Ry T 7%, U 61 60 B WM W dHad gieared e @ fog 2

Note: the following Questions are for the Visually Impaired students only in lieu of
Question no. 60.

fFufafRaa & 3 fog yRdR =g § <= S gdd 9@idt fRya g2

(A) NELS
(B) P
©  Tufesa
(D)  JWRIEsS
In which of the following Indian state is ‘Kunchenjunga’ peak located?
(A) Ladhak
(B) Kerala
©) Sikkim

(D) Uttarakhand



